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In this argument, the arguer advocates that [main idea]. Although this argument might seem reasonable
at first glance, it is in fact ill-conceived. The reasons are stated as follows.

In the first place, the arguer assumes that [fallacy 1]. Although this is entirely possible, the arguer offers
no evidence to substantiate this crucial assumption. It is very likely that [reason 1]. An appropriate
example is not very far to seek. [example 1]. The arguer's reasoning is definitely flawed unless the
arguer can convince me that these and other possible scenarios are unlikely.

In the second place, the arguer assumes that [fallacy 2]. Nevertheless, there is no guarantee that it is
necessarily the case, and the arguer does not supply any evidence to confirm this assumption. It is quite



possible that [reason 2]. To illustrate this point clearly, let us take a look at the following representative
example. [example 2]. Without accounting for and ruling out these and other alternative explanations,
the arguer cannot bolster the recommendation.

The last but not the least important, even if the evidence turns out to support the foregoing assumptions,
the arguer just simply assumes that [fallacy 2] and neither any conclusive scientific evidence nor any
anecdotal evidence is provided to affirm this assumption. It is reasonable to doubt that what the arguer
assumes will not happen in reality. It is just as possible that [reason 3]. For example, [example 3].To
reach the cited conclusion, the arguer must explain either why none of these alternatives is available or
why none of them is able to sustain.

To sum up, the arguer’s argument mentioned above is not based on valid evidence or sound reasoning,
neither of which is dispensable for a conclusive argument. In order to draw a better conclusion, the
arguer should reason more convincingly, cite some evidence that is more persuasive, and take every
possible consideration into account.
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[main idea]

- inorder to %f/boost (sagging) profits/improve the economic health

+ A should emulate B’s measures



To bolster the conclusion,

the arguer provides the evidence that...,
points out that...
cites the result of a resent survey that... indicated a preference for...
cites data collected during a recent study, suggesting that ...

along with the fact that .../ based on which he assumes that ...

In addition/Furthermore/Meanwhile,

he projects/predicts that

f@?‘m‘ H R
R

» the sampling of the study is reliable.
It is very likely that the experimental and the control groups of the study were not randomly
chosen.
For example, they are just ... which could not represent a diverse cross section of the
population.

* it is necessary that

* be responsible for/contribute to/ give birth to

« this trend in... will continue in the future

» the similar strategy will carry a similar result at ...

* no course of action other than the proposed one will contribute to the problem.
It is just as possible that other proposals might also solve the problem.
For example, there are ...

+ there is no possible detrimental effect of...

I

such as/ especially if/

+ A has experienced a large growth in its population



« imprudent (pricing and distribution) strategies or poor management

... Was an aberration

» ... was more relatively healthy/relatively bright than average to begin with.
For example, they exercise regularly and eat healthily

... do not have enough security knowledge in mind or do not keep alert all the time.
For example, a large portion of A, who enjoy the feeling of freedom and high speed, are bold and
careless, which may be the lurking danger for accidents.

were traveling during less safe times of the day, such as early in the morning, or during twilight

the geographic features of ... are more conductive to cause accidents.
For example, ... has many sharp turns

poor weather

the price of... has been cut down in order to tout consumers

Ais a tour resort, so the customers who ... are mainly tourists instead of local residents.

most of the consumption is from the big company’s invitation banquet

A has some special advantage that B do not have - and that it cannot duplicate in any other types.

Property values are a function of supply and demand.

It is at least likely that the demand for housing in the area happens to rocket dramatically due to an
influx of major employers.

In addition, it is possible that the supply of housing has decreased.

A’s competitive opponent firms and companies move to other cities. (go bankrupt)

... may has gone up rapidly, which will have to be included in the retail price of ...

—

=

D

(@]

o

wn

~

—

o

=

consumption of other similar products have also declined during that time,
the amount of which might even exceed that of ...

the earlier products are prohibitively expensive for most consumers

the university built more laboratories in the past two years, and then, it is obvious that more
money would spend on the new projects.

there are too few professors of botany in the university and the students,



although lack of interest, have no choice but to attend Thomas's class

the classes she teaches are requirements for every science student.

the school hired more effective teachers whose outstanding teaching methods contributed to the
improvement of......

... has to update its trucks, which are old and out of service, rather than add to its new...

the size of the farms has shrinked.
For example, a farm which has 30 cows producing more milk than two farms each of which has
10 cows.

... iIs not so good, so people are unwilling to go to ... when they ...

many customers are indeed disgruntled about..., but too busy to take time and effort to formally
complain.

college career-planning staff provides students with little information about the current job market.

they have already attended a similar course

there are cheaper but highly-qualified products from the formidable opponents/ the surrounding
areas coming in the instant future insomuch as these products will tout more customers and make
the future’s sales sharply down;

the consumer tastes and habits have become so well entrenched that consumers would not be glad
to change.

It is well known that the taste of the public especially when it comes to such vogue cases as ...
shifts quicker than anyone can imagine. Today’s hot issue may well be in tomorrow’s landfill.
Maybe at that time ... are in the fashion due to... other than...

many unemployed residents are unwilling to go to work if offered the chance, for their handsome
welfare can support their families
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the arguer assumes that no factor other than ....

is responsible for/gives birth to

the sales increase.

LA R 3R

It is at least likely that the price of A has been cut down in order to tout consumers, if so, the
increase of the sales is the result of the preferential price other than

» the particular relish among people

* health benefits

YRS

Itis at least likely A has some special advantage that B do not have - and that it cannot duplicate in
any other types. For that, the increase of the sales is the result of the products self other than the
price.

RRESNSE S

(Property) values are a function of supply and demand.

Perhaps the demand for housing in the area has increased due to an influx of major employers.

Or, perhaps the supply of housing has decreased. Either scenario would provide an alternative
explanation for the increase in property values.

A JiliE R &




Moreover, it is possible that... is a tour resort, so the customers who ... are mainly tourists instead
of local residents. In this case, the business object is different, and they should try their best to
attract the tourist to patronize the restaurant/store.

5. &R

Moreover, it is possible that most of the consumption is from the big company’s invitation banquet.
In this case, the business object is different, and they should try their best to pay more attention in
developing the relation with the company.

Since the arguer has not clearly identified the cause of the increase,
I cannot be convinced that...
» the new strategy will reverse that let alone dramatically.

Secondly, even if the sales increase is attributable to...
—F IS% % 87 147 190 212 218 232 235

the arguer assumes that no factor other than ....
is responsible for/gives birth to
the sales decline
LAk K 3=
Itis at least likely that ... are prohibitively expensive for the key consumers,
if so, the decline of the sales is the result of the imprudent pricing other than ...
+ the waning of interest among ...
« worry about youthful violence
< JTENE
2. R 3R
Moreover, as well known to all, a... may see slow growth or even depression because of factors
other than...
Improper industrial initialization,
lacking of investments or qualified workers,
rigid policies
(imprudent distribution strategies/poor management)
may all account for the unfavorable situation of the ...
The arguer arrives at the conclusion before giving out any researching result regarding the cause
of it.
If the problem does not lie in ... at all,
the ... will be of little help to the economic situation of the city.
3. R
consumption of other similar products have also declined during that time, the amount of which
might even exceed that of ...

If the main problem does not lie in ... at all, it appears reasonable, therefore, for the arguer to focus
on these trouble spots other than to ...

Since the arguer has not clearly identified the cause of the decline,
I cannot be convinced that the new strategy will reverse that decline at all let alone dramatically.



Secondly, even if the sales decline is attributable to...
AR A =
VA 13147 REE 2

even if we concede that ..., this does not necessarily mean that by ... sales will
* increase
* remain increasing or at least not dropping
considering some volatile factors in business:
L4z
An alternative explanation may be that there are cheaper but highly-qualified products from
the formidable opponents, coming in the instant future insomuch as these products will
tout more customers and
+ make the future’s sales sharply down;
+ diminish the ...’s sales
2. AT E
In addition, even if ... achieves monopoly in this field,
the taste of the public shifts quicker than anyone can imagine.
Today’s hot issue may well be in tomorrow’s landfill,
especially when it comes to such vogue cases as ... , (letting alone the artifacts from ... years ago).
Maybe at that time ... are in the fashion no matter because fine quality or chic traits.
Once one of these possibilities comes into being, sales for more products would dwindle (and the
profit would be seriously affected.)
Therefore, for the arguer,
+ other than surprising increase of sales,
« other than imagining increase of sales,
deliberate analysis of the future’s trend in supply-demand of products in terms of some key
economic factors is judicious to whether ....

1] 100226

the arguer fails to provide compelling evidence concerning the future’s change in sales for their
product. Even though the sales for products increased in the past, it is dubious that the future’s
sales will remain increasing or at least not dropping considering some volatile factors in business:
L4z

Perhaps there are more cheap but highly-qualified products from the competing rivals, coming in
the instant future insomuch as these products will tout more customs and make the future’s sales
sharply down;

VRIS NS S

or nationwide economic bottom of the coming future in the economy cycle may make customers
immediately demand less products; and so like.

Once one of these possibilities comes into being, sales for more products would dwindle and the
profit would be seriously affected. Therefore, for the arguer, other than surprising increase of sales,
deliberate analysis of the future’s trend in supply-demand of products in terms of some key
economic factors is judicious to whether ....
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the arguer fails to provide compelling evidence concerning the future’s change in sales for their
product. Even though the sales for products increased in the past, it is dubious that the future’s
sales will remain increasing or at least not dropping considering some volatile factors in business:
L=

Perhaps there are more cheap but highly-qualified products from the competing rivals, coming in
the instant future insomuch as these products will tout more customs and make the future’s sales
sharply down;

2. AT E

the taste of the public shifts quicker than anyone can imagine. Today’s hot issue may well be in
tomorrow’s landfill. It is possible that A citizens have been making other changes in their dietary
or other habits that offset these healthful changes.

Once one of these possibilities comes into being, sales for more products would dwindle and the
profit would be seriously affected. Therefore, for the arguer, other than surprising increase of sales,
deliberate analysis of the future’s trend in supply-demand of products in terms of some key
economic factors is judicious to whether ....

R 2

even if we concede that ..., this does not necessarily mean that by ... values will
* increase
* remain increasing or at least not dropping
considering some volatile factors in business:
LR
An alternative explanation may be that there are cheaper but highly-qualified homes from
surrounding areas, coming in the instant future insomuch as these homes will tout more livers and
make the future’s values sharply down;
2. AT E
In addition, even if ... achieves monopoly in this field,
the taste of the public shifts quicker than anyone can imagine.
Today’s hot issue may well be in tomorrow’s landfill,
especially when it comes to such vogue cases as ... , (letting alone the artifacts from ... years ago).
Maybe at that time ... are in the fashion no matter because fine quality or chic traits.
Once one of these possibilities comes into being, sales for more products would dwindle (and the
profit would be seriously affected.)
Therefore, for the arguer,
+ other than surprising increase of sales,
« other than imagining increase of sales,
deliberate analysis of the future’s trend in supply-demand of products in terms of some key
economic factors is judicious to whether ....
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even if we concede that ...,

this does not necessarily mean that amelioration in these aspects will stimulate economy.



As well known to all, a... may see slow growth or even depression because of factors other than...
Improper industrial initialization,

lacking of investments or qualified workers,

rigid policies

(imprudent distribution strategies/poor management)

may all account for the unfavorable situation of the ...

The arguer arrives at the conclusion before giving out any researching result regarding the cause
of it.

If the main problem does not lie in ... at all, it appears reasonable, therefore, for the arguer to focus
on these trouble spots other than to build a new expressway.
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It is at least likely that there are less reliable cars traveling the roads in ..., or that the age bracket
of those in ... may be not more conductive to driving safely, for instance, there are more younger,
inexperienced, or more elderly, unsafe drivers in ...

ARG ES

Moreover, in reference to the activities of the population, it is possible that ... inhabitants were
traveling during less safe times of the day, such as early in the morning, or during twilight.

Work or family habits may have encouraged citizens to drive during this time.

RR-LVATSEN

Moreover, in reference to the geographical and physical terrain of ..., it is possible that ... is in an
area of more dangerous curves, sharp turns, or has many intersections or merging points where
accidents are more likely to occur.

Since the arguer has not clearly identified the cause of the increase,

I cannot be convinced effectively.
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not enough time has passed to determine the effectiveness of this change in reducing the accident
rate,
especially if

» the new speed limit

» the now road

remains untested during a season of the year in which better driving conditions prevail.
LRAKZE

this may have been a time, such as during harsh weather conditions, however, ...’s citizens,
perhaps coerced by employment and other requirement, were unable to avoid driving on the roads
and therefore the number of accidents has not decreased.
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Are there more people in A than there were six months ago? If so, there may be an increased
number of accidents due to more automobiles on the road and not due to the failure of the
redesign.

3.l R R

there might be rush hours in the past six months
V<l
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Another trouble with the argument is that no clear evidence is provided to substantiate that the
endemic statistics about the profits in the local region can be applied equally to other regions in
the country.

Admittedly, this might be the case under particular conditions especially when these places
embrace same characteristics to some extent.

However, an awareness of inherent distinctions between these locations will inform us the
existence of another possibility that DS prevails in local region merely because it meets the
preference of local residents, which perhaps is very different from other regions in the country.
Without patching these logical flaws the arguer cannot justifiably conclude that Diabolique Salsa
will be popular in other regions.
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provided the new plant is needed to increase more products, Summit is not certainly an ideal place
for the arguer doesn’t consider other concerns which may undermine its “ideal” property.
Although it has low property tax and a lot of land available for purchase, we don’t know whether
it is suitable to open a new plant in order to at least guarantee profitability in the long run.

Is its transportation, for example, convenient for the new plant to acquire its raw materials and
convey their products because inconvenient transportation may significantly increase the cost of
product to diminish its competence in markets?

Is its resource rich for the new plant to produce more?

Is its environment enough pure to guarantee producing?

If the water used to produce is seriously polluted, the future’s production is affected.

What about the unemployed residents?

If most of them are self-employed as merchants, shopper or owner, or if they prefer to go outside
for job, the prediction of the future’s enough workforce pool is wrong and the new plant can’t
surely staff itself.

53& 18 89 55 103
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there are less fewer reliable cars traveling the roads in A, or that the age bracket of those in A may
be not more conductive to driving safely—there are more younger, inexperienced, or more elderly,
unsafe drivers in A

2.5 I [A]

in reference to the activities of the population, it is possible that A inhabitants were traveling
during less safe times of the day, such as early in the morning, or during twilight. Work or family



habits may have encouraged citizens to drive during this time

3. E

the geographical and physical terrain of the two different areas—A is in an area of more dangerous
curves, sharp turns, or has many intersections or merging points where accidents are more likely
to occur.
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the arguer fails to consider possible differences between ... and ... that might help to bring about a
different result for...

1. BUERH=

Itis at least likely that more people intend to live ... lured by the superior local welfare system. For
example, the local government received a large amount of funding from the federal government to
run for local developing to the desired extent, including exploring new projects and enhancing
service facilities.

1. TR &R

Perhaps A’s natural landscape might not be as beautiful as B to attract tourists for vacation, so
it is meaningless to build...... Perhaps M might lack the sort of natural environment that would
attract more tourists and new business to the town——irrespective of its new hotel.Perhaps
the local tourism advertisement has accomplished so tremendous/smashing a success in the
whole nation that brings a large number of visitors into M.

X F AR

%ﬁli'l:l{l 81314 21 23 100 182

we even can see the absurdity of the arguer’s idea from the outdraw of other competitors from
market of this kind of overcoats, which, in the arguer’s point of view, is a good opportunity to
achieve monopoly in this field. Will these companies, who have had fabric supply all the time, be
so silly to give up this good chance for profit, if it really is? At least an investigation is needed to
see if the public is still interested in such kind of overcoats. One possibility is that once there was
people set up restaurants specialize in seafood but found the seafood was not popular or profitable
at all and gave up the mind finally. Or because they will be able to earn much more benefits from
other kinds of men’s clothing, making deluxe alpaca overcoats relatively is not in effect, then, they
cancel it. To avoid any rash decision in investment, the arguer should make a further investigation
on the feasibility and economical of a seafood restaurant in this city.
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Finally, even if the arguer can substantiate the three foregoing assumptions, ...will not possibly
earn a substantial profit by ...

The arguer fails to take into account other relevant factors that might affect the business of ...
Perhaps the demand and the supply have changed in...



Or perhaps the cost associated with advertising is too much.
Either scenario would prevent ...from earning a profit.

In short,

without more information about the presence of competitors,
the population of the area,

the eating habits of the local residents,

without weighing revenue against expenses,

the arguer’s notion is premature at best.
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a laxing of investment discipline, a reduction in tax or reshuffle of business constitution will be of
real help to the city

2. AA

funds used to build the expressway and to create jobs for construction workers cannot be applied
to some other program instead---one that would be even more effective in promoting the health of
the downtown economy
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Avre there any other methods can be employed other than building a new factory in another city?

It is highly possible that the productivity of the present factory can be substantially improved only
by enroll more workers, or purchase more equipment, or expand the present factory, et al.

These methods may be more quickly employed at lower cost than building a new factory.
However, the arguer fails to consider these ways to expand the productivity of his/her present
factory, which makes his allegation not tenable.
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Thirdly, the memo's recommendation rests on the dubious assumption that the proposed actions
are the only two means of increasing ABC's overall profitability.

In all likelihood, ABC's profits are a function not only of how many boxes of BB it sells but also
of its costs and its revenue from other products.

Perhaps ABC can improve its profits by other means--such as expanding its cereal Line, marketing
BB to health-conscious consumers and raising the price of BB, or cutting costs in other areas.

For that matter, if other cereal companies raise their prices, consumers might begin to consider BB
a bargain at its current price--or perhaps even at a somewhat higher price.

In short, since the memo has not ruled out all other possible scenarios that might serve to improve
ABC's overall profitability | simply cannot take the memo's recommendation seriously.

HEEK
will boost sales
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As a threshold matter, the arguer unfairly equates the number of ticket purchasers with the number
of tickets purchased. The arguer ignores the possibility that the average number of tickets sold to
each purchaser is increasing and, as a result, the total number of tickets is not declining--or
perhaps even increasing. Thus the arguer cannot convincingly conclude that Glenville has a
ticket-sale problem in the first place.
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the arguer fails to consider the possible negative effects of... on the economy of the city.

LA

the space used to build the expressway may exist many industries and shops. Razing their original
locus of business will undermine the morale of people in the city. They may shift their business to
another city

2.\ 5%

Moreover, as a matter of fact, increase of crime rate and various social problems often follow the
influx of people,

3.4V R

and the city’s financial condition may not sustain such a big project without damaging the grand
benefit of all the social members and the wholesome of the city’s economy.

After all, to build an express way through the city dose not equal to a simple construction of a
paved road in the garden.
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The arguer fails to convince me that the total sample of this study is suffice to represent cases in
general—in terms of their preference for video games. While suggestive of the trend that...,
however, this argument contains neither sign of random sampling nor the specific way how the
survey was conducted. Besides, the author also neglects to mention what fraction of people
surveyed actually responded as well as the quality of the reply. In short, without better evidence
that the survey is statistically reliable the arguer cannot rely on it to draw any firm conclusions.

The arguer provides no evidence that survey’s respondents are representative of the overall group
of ...
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